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Note:

(i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write the option code

and the corresponding answer.

1) If (5, 7), (3, p) and (6, 6) are collinear, then the value of p is
@ 3 (b 6 ()9 (d 12
2) The area of triangle formed by the points (-5, 0), (0, —=5) and (5, O) is
(@) 0 sq.units (b) 25 sq.units (c) 5 sq. units (d) none of these
3) The slope of the line which is perpendicular to a line joining the points (0, 0) and (- 8, 8) is
@ -1 (1 (o3 (-8
4 If sin @ = cos 0, then 2 tan? 6 + sin? 6 -1 is equal to
(@ 52 Mm 2 (©2 @2
5) If x = a tanf and y = b secf then
@L-Z=1 B Z-L=1 ©@F5+L=1 (@ 5-L=0
6) If the ratio of the height of a tower and the length of its shadow is /3 : 1, then the angle of elevation of the sun has measure
(@ 45° (b) 30° (c) 90° (d) 60°
7) A tower is 60 m height. Its shadow is x metres shorter when the sun’s altitude is 45° than when it has been 30°, then x is equal to
(@ 41.92m (b) 4392m (¢) 43m (d) 45.6m
8) If two solid hemispheres of same base radius r units are joined together along their bases, then curved surface area of this new solid
is
(a) 47r? sq.units (b) 67r? sq.units  (¢) 37r? sq.units  (d) 87r? sq.units
9) The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be
@ 12cm () 10cm (¢) 13cm (d) 5cm
10)

The total surface area of a hemi-sphere is how much times the square of its radius.

@ 7 ([ 47 (¢) 37 (d) 2«
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11) The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter and same height is
(@ 1:2:3 (b) 2:1:3 (¢ 1:3:2 (d) 3:1:2

12) The probability of getting a job for a person is % If the probability of not getting the job is % then the value of x is
@2 (B 1 (¢ 3 (d 1.5

13) If a letter is chosen at random from the English alphabets {a, b,...,z}, then the probability that the letter chosen precedes x
@2 b F ©x% @ 5

14)

A purse contains 10 notes of Rs. 2000, 15 notes of Rs. 500, and 25 notes of Rs. 200. One note is drawn at random. What is the
probability that the note is either a Rs. 500 note or Rs. 200 note?

@1 L ©2 @42
UGS - II/PART - II 13x2 =26
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Note : Answer any 10 questions. Compulsorily answer question number 30.

15 Find the slope of a line joining the given points (- 6, 1) and (-3, 2)

16) The line p passes through the points (3, - 2), (12, 4) and the line q passes through the points (6, -2) and (12, 2). Is parallel to q ?

17) Find the equation of a line passing through the point (3, - 4) and having slope _75

18) A cat is located at the point (-6, -4) in xy plane. A bottle of milk is kept at (5,11). The cat wishes to consume the milk travelling
through shortest possible distance. Find the equation of the path it needs to take its milk.

19) Find the equation of a straight line which has Slope %5 passing through the point (-1, 2).

20) Find the slope of the straight line 6x + 8y + 7 = 0.

21)

Find the equation of a straight line passing through the point P(-5, 2) and parallel to the line joining the points Q(3, -2) and R(-5, 4).

22) prove that ﬂ/}L"se = cosec 6 + cotf
—cosf

23) What is the probability that a leap year selected at random will contain 53 saturdays. (Hint: 366 = 52 x 7 + 2)

24) prove that %ﬁg — % = cotf

25) Find the angle of elevation of the top of a tower from a point on the ground, which is 30 m away from the foot of a tower of height
10/3m

26) From the top of a rock 50,/3m high, the angle of depression of a car on the ground is observed to be 30°. Find the distance of the car
from the rock.

27) The radius of a conical tent is 7 m and the height is 24 m. Calculate the length of the canvas used to make the tent if the width of
the rectangular canvas is 4 m?

28) If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface area?

29) The volume of a solid right circular cone is 11088 cm?®. If its height is 24 cm then find the radius of the cone.

30) A die is rolled and a coin is tossed simultaneously. Find the probability that the die shows an odd number and the coin shows a
head.

UGS - III/PART - II 12x5=60
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Note:

Answer any 10 questions. Compulsorily answer question number 49.

31) If the points P(-1, -4), Q (b, c) and R(5, -1) are collinear and if 2b + ¢ = 4, then find the values of b and c.
32) Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are (-4, -2), (-3, k), (3, -2) and (2, 3)
33)

If the points A(- 3, 9) , B(a, b) and C(4, - 5) are collinear and ifa + b =1, then find a and b.
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A quadrilateral has vertices A(- 4, - 2), B(5, - 1), C(6, 5) and D(- 7, 6). Show that the mid-points of its sides form a parallelogram.
Find the equation of the median and altitude of A ABC through A where the vertices are A(6, 2), B(-5,-1) and C(1, 9)
Find the equation of the perpendicular bisector of the line joining the points A(-4, 2) and B(6, -4).

A kite is flying at a height of 75m above the ground, the string attached to the kite is temporarily tied to a point on the ground. The

inclination of the string with the ground is 60°.find the length of the string ,assuming that there is no slack in the string.

From a point on the ground, the angles of elevation of the bottom and top of a tower fixed at the top of a 30m high building are 45°

and 60° respectively. find the height of the tower. (v/3 = 1.732)

From a solid cylinder whose height is 2.4 cm and diameter 1.4 cm, a conical cavity of the same height and base is hollowed out. Find

the total surface area of the remaining solid.

2 4cm

31

—14cm—

The frustum shaped outer portion of the table lamp has to be painted including the top part. Find the total cost of painting the lamp

if the cost of painting 1 sq.cm is Rs. 2.

bm

The radius and height of a cylinder are in the ratio 5 : 7 and its curved surface area is 5500 sq.cm. Find its radius and height.

A solid iron cylinder has total surface area of 1848 sq.m. Its curved surface area is five — sixth of its total surface area. Find the

radius and height of the iron cylinder.

For the cylinders A and B
(i) find out the cylinder whose volume is greater.
(ii) verify whether the cylinder with greater volume has greater total surface area.

(iii) find the ratios of the volumes of the cylinders A and B.

cylinder A cylinder B

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the volume of the frustum.

Marks of the students in a particular subject of a class are given below:
Marks 0-10[10-20]20-3030-4040-50/50-6060-70
Number of students 8 12 17 | 14 9 7 4

Find its standard deviation.

The measurements of the diameters (in cms) of the plates prepared in a factory are given below. Find its standard deviation.

Diameter(cm) 21-2425-2829-323-637-4041-44

Number of plates|15 18 20 16 8 7

Find its standard deviation, In a study about viral fever, the number of people affected in a town were noted as
Age in years 0-10/10-20[20-30[30-40[40-50/50-60/60-70
Number of people affected3 |5 16 18 12 |7 4

Find its standard deviation

The time taken by S0 students to complete a 100 meter race are given below. Find its standard deviation.
Time taken(sec) [8.5-9.59.5-10.5/10.5-11.5[11.5-12.512.5-13.5
Number of students 6 8 17 10 9
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49) Two unbiased dice are rolled once. Find the probability of getting

(i) a doublet (equal numbers on both dice)
(ii) the product as a prime number
(iii) the sum as a prime number

(iv) the sum as 1

All The Best
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